EiRBBRAEANN=

SI-A00E-GA =8+775va kv

30
B i % ¥ B B i % ¥ B
1 FryvTAI)ay 6 100 | 30 FREAZAAY 2 100
2 S VAV 1 5,000 [ 31 F7r—A 1 2,640
3 A7) ay 1 60 | 32 VT7T—=F=9vr 1 100
4 NIV AT A T 1 5,000 | 33 NANFT (B) 1 1,750
5 ——hkro—5— 1 80 | 34 R=NXTYY T 1 600
6 NI — 1 500 | 35 N7V T 75 vh 1 2,500
7 Ny R HR—p 1 8,500 | 36 RN RXTY T 1 600
8 A2 —FNF¥T 1 4,600 | 37 T—=xFaTHL 1 5,500
9 A—NXTYT 2 800 | 38 FRELZAALY 2 100
10 Tr—T Ty V¥ — 1 150 | 39 Ty vr— 2 10
11 V7—F—=)>7 1 150 | 40 K=V RT) T 1 600
12 Y AEN) 4 100 | 41 =P 1 30
13 ¥=%r 1 3,200 | 42 AT — MVAHAL 1 3,340
14 7z Vb)Y B 1 600 | 43 AR 2 30
15 PESIWRTIN 1 600 | 44 FRELZAY 1 80
16 ikl WA 1 600 | 45 FRELARY 1 60
17 FrvTAIY 2y 4 60 | 46 INY RV IIN— 1 1,800
18 Iy vx— 4 S50 | 47 arruo—J— 1 9,650
19 FTINITUT 1 8400 | 48 AL F 1 800
20 PEA MY 1 600 | 49 arF Y — 1 270
21 Iy RAN— 1 2,100 | 50 A A 1 5,900
22 VAR A A 1 8,300 | 51 T RN — 2 490
23 Trvx—A 1 50 | 52 79 (LP/C 245A) 1P/C 300
24 Ivvx—B 1 50 | 53 TI3vFxv7 1 100
26 A¥ YRV 1 4,950 | 54 FRELZARY 1 60
27 V7r—=F=)27 1 200 | 55 T aA—F 1 1,250
28 R=NRXTY T 1 800 | 56 77 CP (+No. 57) 1 3,500
29 FRELZARY 2 500 | 57 TN T HIN— 1 —






